
CHEMISTRY

BOOKS - JMD CHEMISTRY (PUNJABI

ENGLISH)

SAMPLE QUESTION

Example

1. The depression in freezing point for 1M urea,

1M glucose and 1 M NaCL are in the ratio,

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_uvgEOeumvYFS


A. 

B. 

C. 

D. None of the above

Answer: C

Watch Video Solution

1: 2: 3

3: 2: 2

1: 1: 2

2. A pressure cooker reduces cooking time

because :

https://dl.doubtnut.com/l/_uvgEOeumvYFS
https://dl.doubtnut.com/l/_PSbA3HfjCraJ


A. heat is more evenly distributed

B. the higher pressure tenderises the food

C. the boiling point of water inside the

cooker is elevated.

D. the boiling point of water inside the

cooker is depressed.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_PSbA3HfjCraJ


3. which of the following mode of expressing

the concentration is independent of

temperature?

A. Molarity

B. Normality

C. Formality

D. molality

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_cj43FDcjcdfI


4. Find the mass of glucose that should be

dissolved in 50g of water in order to produce

the same lowering of vapour pressure as

produce by dissolving 1 g of urea in the same

quantity of water

A. 1 g

B. 3 g

C. 6 g

D. 9 g

Answer: B

https://dl.doubtnut.com/l/_DwLPLZlcubTi


Watch Video Solution

5. Which of the following have lowest boiling

point ?

A. He

B. Ne

C. Ar

D. Na

Answer: A

https://dl.doubtnut.com/l/_DwLPLZlcubTi
https://dl.doubtnut.com/l/_DON8DR4JqZbO


Watch Video Solution

6. Which of the following alcohol will be most

reactive towards lucas Reagent ?

A. Methyl alcohol

B. Primary alcohol

C. Secondary alcohol

D. Tertiary alcohol

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_DON8DR4JqZbO
https://dl.doubtnut.com/l/_nmcZ0T5kCVZr


7. How many ions are produced from the

complex 

 


in solution ?

A. 6

B. 4

C. 3

D. 2

Answer: C

[Co(NH3)6]Cl2

https://dl.doubtnut.com/l/_nmcZ0T5kCVZr
https://dl.doubtnut.com/l/_dv3rP4p1MEtB


Watch Video Solution

8. Amongst the following, the most stable

complex is

A. 

B. 

C. 

D. 

Answer: C

[Fe(H2O6)]3 +

[Fe(NH3)]6]
3 +

[Fe(C2O4)3]
3

−

[FeCl6]3 −

https://dl.doubtnut.com/l/_dv3rP4p1MEtB
https://dl.doubtnut.com/l/_nBdk6l6IQqr0


Watch Video Solution

9. which among the followings is known as

Invert sugar ?
Glucose,
Maltose,
Sucrose

A. Glucose

B. Maltose

C. Sucrose

D. None of the above

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_nBdk6l6IQqr0
https://dl.doubtnut.com/l/_9v5UP7whOv1W


10. Which among the followings is Fibrous

protein ?

A. Albumin

B. Keratin

C. Insulin

D. None of the above

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_9v5UP7whOv1W
https://dl.doubtnut.com/l/_HHak51AT6vyp


11. Gabriel phthalimide is used for preparation

of

A. Aromatic amines

B. Secondary amines

C. Tertiary amines

D. primary aliphatic amines

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_849dct1zFl8m
https://dl.doubtnut.com/l/_CRzuL1h1AZaj


12. Which among the followings is most basic

in aqueous solution

A. Primary methylamine

B. aniline

C. Sec-methylamine

D. tert-methylamine

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_CRzuL1h1AZaj


13. Which among the followings is most acidic

?

A. Acetic acid

B. Formic acid

C. Chloroacetic acid

D. Ethanol

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_sZriqcHcE96m
https://dl.doubtnut.com/l/_HEFGuUWc4DLi


14. Which among the followings undergoes

aldol condensation ? Methanal,
Benzaldehyde,

Propanal or
none of the above

A. Methanal

B. Benzaldehyde

C. Propanal

D. None of the above

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_HEFGuUWc4DLi
https://dl.doubtnut.com/l/_siXAZS0KfM0Z


15. The colour of precipitates in Iodoform

reaction is

A. White

B. Yellow

C. Orange

D. Brown

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_siXAZS0KfM0Z


16. In clemmensen reduction aldehyde changes

into

A. Alcohol

B. Alkene

C. Alkane

D. Alkyne

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_2Gd3bLWiyzwI
https://dl.doubtnut.com/l/_eNYmWOFp4laD


17. One faraday cantains the charge

A. 95000 C

B. 96500 C

C. 94500 C

D. 95600 C

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_eNYmWOFp4laD


18. The metal with minimum enthalpy of

atomisation is:
Hg,
Mn,
Fe,
Cu.

A. Hg

B. Mn

C. Fe

D. Cu

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_IZYy43jBU4Il
https://dl.doubtnut.com/l/_26WLOxKvLfux


19. Which type of colloids are stable in nature

?

Watch Video Solution

20. Give three differences between lyophilic

and lyophobic colloids.

Watch Video Solution

21. Which type of colloids undergo solvation ?

Watch Video Solution

https://dl.doubtnut.com/l/_26WLOxKvLfux
https://dl.doubtnut.com/l/_noMY4EgWUyN6
https://dl.doubtnut.com/l/_hSIqgBNIoLPk


22. What are protective colloids ?

Watch Video Solution

23. What do you understand by protection of

colloids ?

Watch Video Solution

https://dl.doubtnut.com/l/_hSIqgBNIoLPk
https://dl.doubtnut.com/l/_dPzqqfhcj7HA
https://dl.doubtnut.com/l/_d00DTO4cfjxV


24. Why haloalkanes are more reactive than

haloarenes towards nuclophilic subsition

reaction ?

Watch Video Solution

25. Alcohols reacts with sodium metal to

release hydrogen gas True/False

Watch Video Solution

https://dl.doubtnut.com/l/_axoLN6QjqT6Z
https://dl.doubtnut.com/l/_jyH7qUR6Ndxo


26. Why carboxylic acids are more acidic than

Phenols ?

Watch Video Solution

27. Glycogen is called animal starch

Watch Video Solution

28. Amines have greater boiling point than

alcohols

https://dl.doubtnut.com/l/_hLuQEavFsXRi
https://dl.doubtnut.com/l/_jJhADuWwVDwM
https://dl.doubtnut.com/l/_tEElbVy6OR6K


View Text Solution

29. Sodium chloride solution freezes at lower

temparature than water but boils at higher

temparature than water . Explain.

Watch Video Solution

30. Boiling point of water at 750 mm Hg is

96.63 degree celsius. How many sucrose is to

be added to 500 g of water such that it boils

https://dl.doubtnut.com/l/_tEElbVy6OR6K
https://dl.doubtnut.com/l/_Sti417IduJcM
https://dl.doubtnut.com/l/_N1FbqqDThpWX


at 100 degree celsius ? Molal elevation

constant for water is 

0.52 kg  .

Watch Video Solution

mol
− 1

31. The vapour pressure of pure liquids A and B

are 450 and 700 mm Hg at 350 K respectively.

Find out the composition of the liquid mixture

if total vapour pressure is 600 mm Hg. Also

find the composition of the vapour phase.

Watch Video Solution

https://dl.doubtnut.com/l/_N1FbqqDThpWX
https://dl.doubtnut.com/l/_8QocFUqSc7io


32. Explain the variation of conductivity of a

metallic conductor with temperature?

Watch Video Solution

33. Calculate the half-life of a first order

reaction from its rate constant which is 

200 

Watch Video Solution

S
− 1

https://dl.doubtnut.com/l/_8QocFUqSc7io
https://dl.doubtnut.com/l/_7kRsAlRSrHgq
https://dl.doubtnut.com/l/_1PpgXWxcbUN0
https://dl.doubtnut.com/l/_gvsLeQQtvmWW


34. If the reaction between A and B to give C

shows first order kinetics in A and Second

order in B, the rate equation can be writen as :

Watch Video Solution

35. A reaction is first order in A and second

order in B 

How is the rate affected on increasing the

concentration of B three times ?

Watch Video Solution

https://dl.doubtnut.com/l/_gvsLeQQtvmWW
https://dl.doubtnut.com/l/_0fR1U7ZHpuFk
https://dl.doubtnut.com/l/_ixQNK88FsPZc


36. Why do noble gases have large atomic size

Watch Video Solution

37. Which form of sulphur shows

paramagnetic behaviour and why ?

Watch Video Solution

38. Compare and explain bond angles of 

 and H2O H2S

https://dl.doubtnut.com/l/_ixQNK88FsPZc
https://dl.doubtnut.com/l/_cBXVe7z9JU5S
https://dl.doubtnut.com/l/_1IWOeSLR2qIu


Watch Video Solution

39. Transition metals form number of

interstitial compounds. Explain.

Watch Video Solution

40. Why are  compounds more stable

than  towards oxidation to their +3 state

?

Watch Video Solution

M ∈2 +

Fe
2 +

https://dl.doubtnut.com/l/_1IWOeSLR2qIu
https://dl.doubtnut.com/l/_qVSQpxx1ibVq
https://dl.doubtnut.com/l/_jLNaBdvjJUTd


41. What is meant by unidentate, didentate

and ambidentate ligands ? Give two examples

for each.

Watch Video Solution

42.  and  are

of different colours in dilute solutions. Why ?

Watch Video Solution

[Fe(CN)6)]
4 −

[Fe(H2O)6)]
2 +

https://dl.doubtnut.com/l/_jLNaBdvjJUTd
https://dl.doubtnut.com/l/_d7NAI0xygR5I
https://dl.doubtnut.com/l/_Izl9gIuAZsCi
https://dl.doubtnut.com/l/_KeRtD6Md2hNI


43. Explain the factors affecting rate of a

reaction.

Watch Video Solution

44. Calculate the potential of hydrogen

electrode income with a solution whose pH is

10.

Watch Video Solution

https://dl.doubtnut.com/l/_KeRtD6Md2hNI
https://dl.doubtnut.com/l/_e3hchJeaSHaC


45. Compare and explain the reactivity of

different alcohols towards sodium.

Watch Video Solution

46. Why is phenol stronger acid than the

alcohols ? Explain in detail.

Watch Video Solution

https://dl.doubtnut.com/l/_8XWDtHN56yKt
https://dl.doubtnut.com/l/_VMRRVSlvleaM


47. Show that the time required for 99%

completion of a first order reaction In twice

the time required for the completion of 90%.

Watch Video Solution

48. A first order reaction takes 40 min for 30%

completion. Calculate .

Watch Video Solution

t 1

2

https://dl.doubtnut.com/l/_ADZa9vfC7dOs
https://dl.doubtnut.com/l/_1HPLW6VbucG2


49. Why is dioxygen gas but sulphur a solid?

Watch Video Solution

50. Most of the compounds of transition

elements are paramagnetic in nature. Explain.

Watch Video Solution

51. Why do transition metals have high

enthalpies of atomization ?

https://dl.doubtnut.com/l/_pQVStEGj2K8N
https://dl.doubtnut.com/l/_n4U2Z6ONqTcw
https://dl.doubtnut.com/l/_RaJrRkEpSfT6


Watch Video Solution

52. Transition metals form mostly coloured

compounds.Explain.

Watch Video Solution

53. Transition elements and their compounds

are found to be good catalysts. Give examples.

Watch Video Solution

https://dl.doubtnut.com/l/_RaJrRkEpSfT6
https://dl.doubtnut.com/l/_mpXnFgRPq0N4
https://dl.doubtnut.com/l/_P3ejcSeDMvNl
https://dl.doubtnut.com/l/_PBAMnTTixVOz


54. Why  is strongly reducing while 

 is strongly oxidising ?

Watch Video Solution

Cr
2 +

Mn
3 +

55. The  configuration is very unstable in

transition 

metal ions. Explain why ?

Watch Video Solution

d
1

https://dl.doubtnut.com/l/_PBAMnTTixVOz
https://dl.doubtnut.com/l/_ZRZ7LNOds7nQ


56. What happens when : 

n-butyl chloride is treated with alcoholic KOH.

Watch Video Solution

57. What happens when - 

bromobenzene is treated with Mg in the

presence of dry ether

Watch Video Solution

https://dl.doubtnut.com/l/_PVej0r2KSHUJ
https://dl.doubtnut.com/l/_GPfyocSiwRIw


58. What happens when : 

Ethyl chloride is treated with (aq) KOH.

Watch Video Solution

59. Methyl bromide is treated with sodium in

the presence of dry ether.

Watch Video Solution

https://dl.doubtnut.com/l/_obj4uKmlMVDd
https://dl.doubtnut.com/l/_yLydTR2FGPSf


60. What happens when : 

Methyl chloride is treated with KCN.

Watch Video Solution

61. Explain the following reaction reaction : 

Sandmeyer's reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_rkQS4wDbQJAd
https://dl.doubtnut.com/l/_sBq6Sd2zfXVM


62. Write the following reactions: 

Finkelstein reaction

Watch Video Solution

63. Write down following name reaction : 

Hunsdiecker reaction

Watch Video Solution

https://dl.doubtnut.com/l/_h37U1a1lyBtx
https://dl.doubtnut.com/l/_rT4VkuIB1Xuy


64. Give the following reactions: 

Fitting reaction

Watch Video Solution

65. Explain the following reactions : 

Ulmann reaction

Watch Video Solution

https://dl.doubtnut.com/l/_VXg9ORuS6klu
https://dl.doubtnut.com/l/_emOsMP6YH2fW

